Z:(2000) ALBIHH]  2:(2400) FEHU XIS ALSI N &1 (2420) FEH 22| HIgH: (2425) FEAAI SHEIH MIAIEE: (120) B A X A [FEAIASEE | [T H ]
2t = P IS = HI ml
of & oH A = ol =
A s M MMIE 2 o & o =5 A Y
2000
AFE] 0 2 3,050,000 3,450,000 A400,000
2400
TEHQI X A AFS| R 3,050,000 3,450,000 A400,000
HI
2420
=S 3,050,000 3,450,000 A400,000
2425
FeAli S 5| 3,050,000 3,450,000 A400,000
100
2 AHOH| AF 145,910 86,820 59,090
120
AAE A 145,910 86,820 59,090
201
s 9| 142,790 83,700 59,090
142,790 83,700 59,090 |01 LBr2 |
o1, Ut 2H|
- 2WIFEYSHR| S)|ar2
80,0002 x 100 A4l CH = 8,000
- 2WIFEUST2 ML ESABHHIS
1,000,000/ x 120 = 120,000




JARSIOHEEE]  24:(2400) FEH L XIS AN &F: (2420) =& 2t e NIgH: (2425) FHALH SESI A MIAIE: (120)Z & A B H [FEIMSSEIAH] [ HR]

o = INE = m
ol & o oo & = ) x
RN W < e B = A
- [OFUSNSVY SIIPSE g34+8
1,200 x20024x33| = 720
- SHS4SIXAN 20 12021x3,00004x 123~ = 4,320
- SNSHEDNA g0 12020x5009 X435 = 240
- SNH2TLRIYTRE A2E 7
- CHANEM) 250,0008x1CHx33] = 750
- EH3IERIX 240,0008x10Hx33] = 720
3. BB LAl
- 828 +0DNA Y 2BR
1902 x3, 00004 x 123! = 6,840
- SIS ES (ST 2,303 ) 1,200,008 = 1,200
202
o1l 3,120 3,120 0
3,120 3,120 0|01 =LHotHI




X (2000) AFBIJHEEH] 2+ (2400) €4 XIS AFSI NS &F: (2420) = E4 22 HIBH: (2425) =EAALIS 3| MAIBH: (120) Z A X A H| EENCEEER MR
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
CRVZEHSN2 ML 20|
40,0002 x2 % x4 x63] = 1,920
oROIZEN HUHE 2 OH
10,0002 x2H x5 x 123 = 1,200
300
TH R4S 2,682,082 3,288,521 A 606,439
310
PN, 2,682,082 3,288,521 AB0B,439
311
X2 0l X} 537,688 960,395 A422 707
537,688 960,395 A422,707103 JIEFXI 2 ALEHO| K
CRVIZEHEN2 U2 0| XA S
~ 84 0IZ=EH(70KITH) 13,313,6002 = 13,314
~ 84=20IZ=E4 (566AICH) 134,930,560 = 134,931
- 85=20IZ=EH (107 MITH) 21,826,680 = 21,827
~ 852014 (811HICH) 185,965,800 = 185,966




Z:(2000) ALSIOHEEHI 241 (2400) = EHL XA ALSI N & : (2420) F=EH 22| HIE:(2425) = HALL S H MAIE:(310) X 24 RH AL 2t [Z=EAIRDES chel &
o = oo ow | &8 = - Ak = pJ e
I opa N AIAIE = L AN
- 86= 24 (330MICH) 73,491,430& = 73,492
- 86 0IFEH(411KICH) 101,275,980& = 101,276
oagZ=e 0| Ktatst
- 85 (1) 12,2902 13
- 874d(78) 868, 170& 869
o= 0l AXO|AtAE 6,000, 000& 6,000
601
pEIE=E = 2,144,394 2,328,126 183,732
2,144,394 2,328,126 A183,732(04 JIEt=LH XL 242t
oZIpIFHESNZ AZME
- 84=QIFEH(70MICH) 43,828,880& 43,829
~ 84=201Z=eH (566 CH) 489,840,2902! 489,841
- 85 2I=E (107 MICH) 50,392,940& 50,393




ZH:(2000) AFSIOHEEH]  2H:(2400) =EH U XIS AFS| DHEE &F: (2420) F=EH 22| MIgh: (2425) A S Ll H HIAIE:(310) Xl & XH AF & [ZTEALSYS A [ HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
(2 8 NI MIAIE 2 o & o =5 A Y
- 852 0IZ=E4(B11AITH) 411,257,14090 = 411,258
~ 86=2D13=€4(330AICH) 126,353,4202 = 126,354
~ 86201 (411HITH) 177,862,020 = 177,863
oABi=E SX2 AS
- 85 (1) 167,350 = 168
- g7A(TSE) 4,687,790 = 4,688
CRDIFEHEI2 UYAIE AS
4,000,000 x 180 Al CH = 720,000
OROIZEHAF 2 A3 120,000,0008 = 120,000
400
VEIEES 222,008 74,659 147,349
410
ofl HI bl 222008 74,659 147,349
801
ol 51 Bl 222,008 74,659 147,349 | = 0fl 51 H] 202.008,0009 = 222,008
N = & 3 3,050,000 3,450,000 A400,000
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